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264EFE | 17,1461 -0.9| 8,198 -6.5| 2.09 — | 47,252 2.8| 32,995 -6.0| 1.43 —
274 | 17,071 -0.4| 7,848 -4.3| 2.18 — | 47,190 -0.1| 31,551 -4.4| 1.50 —
284EfE | 18,318 7.3 7,570 -3.5| 2.42 — | 51,044 8.2| 30,004 -4.9| 1.70 —
204EFE | 18,7920 2.6 7,274 -3.9| 2.58 — | 53,176 4.2| 29,312 -2.3| 1.81 —
304ERE | 19,4530 3.5 6,751 -7.2| 2.88 — | 55,559 4.5 27,975 -4.6| 1.99 —
29/10~12| 18,703: 3.5/ 6,202 -2.6| 3.02 2.66] 53,785 3.1 28,064 -1.9| 1.92 1.84
30/1~3| 20,020 3.2| 7,500 -6.5| 2.67 2.69| 55,684 3.7| 27,896 -3.6 2.00 1.89
30/4~6| 19,144 57| 7,750 -6.0| 2.47 2.80| 54,436 5.2| 30,239 -4.3| 1.80 1.92
30/7~9| 19,152 4.5 6,363 -11.0| 3.01 2.88| 54,393 5.7| 27,911 -5.9| 1.95 2.00
30/10~12| 19,479 4.1| 5,946 -4.1| 3.28 2.87| 56,462 5.0/ 27,088 -3.5| 2.08 2.00
31/1~3| 20,036 0.1| 6,947 -7.4| 2.88 2.93| 56,944 2.3| 26,663 -4.4| 2.14 2.02
31/4~6| 19,125 -0.1| 7,513 -3.0| 2.55 2.86| 55,545 2.0/ 28,840 -4.6| 1.93 2.05
5t/7~9| 18,767 -2.0| 6,386 0.4 2.94 2 85| 53,929 -0.9| 27,622 -1.0| 1.95 2.01
5£/10~12| 18,616. -4.4| 5 714 -3.9| 3.26 2. 86| 54,290 -3.8| 25,966, -4.1| 2.09 2. 01
30F£4 8| 19,311 6.5 9,183 -4.3| 2.10. 2.75| 54,353: 3.6/ 30,319 -5.1| 1.79 1.90
58| 20,154 15.3| 7,456 -5.0[ 2.70: 2.89| 54,976  6.7| 30,759 -4.1| 1.79 1.92
68| 17,966. -4.1| 6,610 -9.3| 2.72. 2.76] 53,980 5.2| 29,639 -3.8/ 1.82 1.95
7B 18,299 -0.7| 6,041 -9.7| 3.03 2.90| 53,553 4.3| 27,894 -5.5| 1.92 2.00
8A | 20,8060 21.7| 6,907 -7.5| 3.01 2.83| 54,550 7.2| 28,145 -5.4| 1.94 2.00
9fB | 18,350. 5.8/ 6,140 -15.9| 2.99 2.91| 55,076 5.5 27,693 -7.0| 1.99 2.00
108 | 19,808 -1.7| 7,097 -1.2| 2.79 2.71| 56,657 4.8 28,564 -3.5 1.98 1.99
11A | 21,225 18.7| 5,883 -5.5| 3.61 3.12| 56,981 5.3| 27,323 -3.9| 2.09 2.01
128 | 17,404 -3.7| 4,859 -6.6| 3.58 2.78| 55,749 4.8 25,376 -3.0| 2.20 2.01
311 /| 20,078 -4.8| 7,307 -2.7| 2.75 2.68| 56,354; 3.6/ 25,985 -3.0/ 2.17 2.01
2B 21,453 11.1| 6,781 -8.3| 3.161 3.20| 57,216 2.5 26,723 -4.1| 2.14 2.02
3B | 18,578 5.5/ 6,753 -11.1| 2.75 2.92| 57,263 0.7| 27,282 -6.0/ 2.10 2. 03
314 8| 19,457 0.8| 8,823 -3.9| 2.21 2.89| 56,297 3.6| 28,602 -5.7| 1.97 2.08
STES5H | 20,006 -0.7| 7,279 -2.4| 2.75 2.86| 55,446. 0.9 29,204 -5.1| 1.90; 2.04
68| 17,912 -0.3| 6,438 -2.6| 2.78 2.85| 54,891 1.7| 28,713 -3.1| 1.91 2.03
78 19,389 6.0/ 6,763 12.0] 2.87 2.78| 54,352 1.5 28,322. 1.5| 1.92 2.00
8A | 18510 -11.0| 5,826 -15.7| 3.18 2.98| 53,253 -2.4| 27,232 -3.2| 1.96 2.02
9fR | 18,401 0.3 6,569 7.0/ 2.80 2.80| 54,183 -1.6| 27,311 -1.4| 1.98 2.01
108 | 20,019 1.1| 6,803 -4.1| 2.94 2.78] 55,103 -2.7| 27,375 -4.2| 2.01 2.01
11A | 18,812 -11.4| 5,480 -6.9| 3.43 2.88| 54,544 -4.3| 26,150 -4.3| 2.09 2.01
128 | 17,017 -2.2| 4,860 0.0| 3.50 2.92| 53,222 -4.5| 24,373 -4.0| 2.18 2.01
2% 18| 18,681 -7.0/ 7,034 -3.7| 2.66 2.59| 51,748 -8.2| 25,074 -3.5| 2.06 1.91
2B | 18,586 -13.4| 6,011 -11.4| 3.09: 3.08| 52,236 -8.7| 25,591 -4.2| 2.04 1.92
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2605 E 3,076: -6.5| 37.5 129 -7.21 541 -0.7| 1,711 =3.1: 21.6| 7,971 -4.3: 24.2
21 E 2,956 -3.9| 37.7 720 1.1} 533 -1.5] 1,715 -=3.1: 21.9] 7,693 -3.5 24.4
28F[E 2,829: -4.3| 37.4 727:  0.9| 549 2.91 1,744 1.7 23.01 7,544 -1.9: 25.1
29 E 2,709: -4.2| 317.2 114: —1.7| 5bb] 1.5 1,769 1.4 24.3] 1,683 1.8 26.2
S0FEJE 2,467: -8.9| 36.5 6/8 -5.1| 573 2.91 1,760 -0.5 26.1| 7,755 0.9 27.7
29/10~12| 2,5100 -5.7| 40.5 6/9: -1.2| 511 -0.5] 1,485 3.1: 23.9| 17,281 2.4 259
30/1~3| 2,763 -3.9| 36.8 66/7: -6.3] 609 2.5] 1,850 -0.1: 24.7| 1,342 1.4: 26.3
30/4~6| 2,723 -7.9| 35.1 701: -8.9] 611 5.5 2,184 2.9: 28.2| 8,716 2.7: 28.8
30/7~9 | 2,267 -13.1| 35.6 6/0. -9.8| 515 -2.5]1 1,571 -2.9: 24. 7| 17,637 0.2 2].4
30/10~12| 2,377 -5.3| 40.0 695 2.4| b41 6.0] 1,492 0.5 25.1] 7,391 1.5: 27.3
31 /1 ~3 | 2,502 -9.5| 36.0 646: -3.1| 625 2.6] 1,793 -3.0! 25.8, 7,271 -0.9: 2/.3
31/4~6| 2,440 -10.4| 32.5 684: -2.3| 572 -6.4| 2,234 2.3: 29.7| 8,451 -3.0: 29.3
gu/7~9 | 2,244 -1.0| 35.1 689: 2.8/ 536 4.1| 1,675 6.7 26.2| 1,715 1.0 27.9
jt/10~12| 2,180: -8.3| 38.1 644 -7.3| 558 3.1] 1,544 3.5 27.01 17,295 -1.3 28.1
30 4 A 2,712:  -8.0] 29.5 632: -8.7| 622 5.8] 3,013 4.3: 32.8| 8,714 1.3 28.7
5 A 2,782 -4.9| 37.3 754 -3.3] 625 14.1] 1,898 2.2¢ 25.5| 8,879 2.8 28.9
6 A 2,675 -10.8| 40.5 7116: -14. 4| 586 -2.7| 1,641 1.4: 24.8| 8,554 4.0 28.9
7 A 2,263 -10.2| 37.5 6400 -4.5| 518 0.8] 1,467 -3.2: 24.3| 17,658 0.7: 2/].5
8 A 2,173: -13.0] 31.5 647 -15.1| 482 -1.6] 1,695 0.4: 24.5| 17,671 0.8 27.3
9 H 2,365 —-15.7| 38.5 123 -9.2| 544 -6.2| 1,550 -6.2: 25.2| 17,582 -1.0. 2/.4
10R 2,616: -5.2| 36.9 197 1.4 605 6.9] 1,785 0.4 25.2{ 17,6819 1.7: 2].4
11R 2,446: -5.2| 41.6 716:  1.8| bbh] 5. 11 1,437 -1.0 24.4| 17,409 0.6: 27.1
12A 2,070 -5.6| 42.6 5711 -3.4| 462 6.0] 1,255 2.4 25.8] 6,945 2.3 2].4
1%L 1 H 1,959 -12.6| 26.8 544: -5 4| 463 1.5] 1,952: 2.4 26.7| 7,196 1.7 21.1
2 A 2,5400 -6.5| 3/.5 652. -2.4] 655 5.1 1,749 0.3: 25.8] 7,302 -0.2: 2/.3
3 H 3,007 -9.8] 44.5 142 -2.1] 158 1.2 1,679 -11.6. 24.9| 7,332 -4.0 26.9
31£ 4 A 2,496: -8.0| 28.3 614: -2.8| 566 -9.0| 2,978 -1.2: 33.8| 8,350 -4.2: 29.2
JTE 5 A 2,426 -12.8| 33.3 729 -3.3] 589 -5.8] 2,054 8.2 28.2| 8,585 -3.3 29.4
6 A 2,399: -10.3| 37.3 710¢ -0.8| 561: -4.3] 1,671 1.8 26.0| 8,419 -1.6: 29.3
7 A 2,382 5.3| 35.2 134 14.7) 588 13.5] 1,817 23.9: 26.9| 7,994 4. 4: 28.2
8 A 1,976: -9.1| 33.9 617. -4.6/ 469 -2.7] 1,505 -11.2: 25.8| 17,547 -1.6 2].1
9 H 2,374 0.4] 36.1 716 1.0 bb1 1.3] 1,704 9.9 259/ 7,604: 0.3 27.8
10A 2,401 -8.2| 35.3 123 -9.3| 628 3.8] 1,834 2.7: 27.01 17,672. -1.9 28.0
11H 2,222 -9.2| 40.5 661: -7.7| 556 -0.2| 1,492 3.8 27.2| 17,368 -0.6: 28.2
12R 1,917: -7.4] 39.4 o47: -4.2| 491 6.3] 1,307 4.1 26.9| 6,845 -1.4: 28.1
24 1A 1,711 -9.6| 25.2 500: -8.1| 482 4.1 2,121 8.7 30.2| 17,6273 1.1 29.0
2 A 2,004: -18.7| 34.3 543: -16. 7| 545 -16.8] 1,756 0.4: 29.2| 17,6573 3.7: 29.6
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